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Instructions ( F139T1)

This Question Paper consists of 60 Multiple Choice Objective Type Questions. All Questions are compul-
sory and carry 01 mark each. There is No negative marking.

W U W W 60 agforhedt W €| 9t v i € o ye® We 01 3% W 21 el 3w
% fau o T wre W

Each question has four alternative responses marked (A), (B), (C) and (D). You have to choose the
correct answer and mark it on the OMR sheet.

% e % AT SR S fased (A), (B), (C) 72 (D) KU 7 &) siueht Uel S fashed w1 T
% OMR 99 W Sifeha e &l

For mark_ing answers on the OMR

OMR 95 W 394 HEl 3 ol fafgd & & fau OMR 9oa W ifea e <1 9em shifsia)

stz ST § -

(A) WX Hfad & T@ReF & 99 W (B) W wfed & faer s &
(C) A & B 3 D) =™ ¥ HE &

The objective of Ayurveda is -

(A) Health preservation of a healthy person (B) To cure the disease of a patient

(C) BothA& B (D) None of these
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2. IR 1 Fmior g © -

(A) i Tl gr (B) TuHifaw adl g
(C) & gw D) A g B 3

Body builds from -

(A) Physical elements (B) Meta physical elements
(C) Organs (D) BothA & B

3. AE o sl & fa o o aiiga feen -

(&) = ®) <

© (D) e

In Ayurveda elements are categorical in how many category -
(A) Five (B) Ten

(C) Nine (D) Twelve

4, qsifaes qel % HEH Bl © -
(A) 9= ®)
©) D) R
The number of Metaphysical elements are -
(A) Five (B) Nine

(C) Three (D) Four

5. e o 9 fifaes 5o T ? -

(A) TR B)

(C) oy (D) feem

Which one of the following is not a physica’ element -

(A) Sky (B) Fire

(C) Wind (D) Direction
2
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6. e o @ wdifas geg &) © -

(A) WA B) g
(C) =1t (D) e

Which one of the following is not a meta physical element -

(A) Mind (B) Wind

(C) Time (D) Soul
7. HEIYE w1 fafyre or wedm ® -

(A) Ha (B) THET

(C) 3 A a9 B (D) 9 | *E &

The specific quality of a element is known as -

(A) Bhoot (B) Tanmatra

(C) Both A& B (D) None of these
8. STTRTST HETYA hl G & -

(A) WK (B) T

(C) Ty (D) &Y

The attribute of sky element is -
(A) Sound (B) Touch

(C) Small (D) Radiance

9, Aft HeT[ 1 T ® -
(A) == (B) &
(C) T (D) oI5
The attribute of fire element is -
(A) Touch (B) Radiance

(C) Smell (D) Sound
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10.

11.

12.

13.

geeft WETYA HT A T -

(A) &9

(€) =

The attribute of Earth element is -
(A) Radiance

(C) Sound

A ae o1 fafyre qo @ -
(A) I

(C) feer

The specific quality of fire element is/are -

(A) Hot

(C) Stable

gedl e o fafvre qor B -

(A) 13

(©) fer

The specific quality of Earth element is -
(A) Soft

(C) Stable

Sl ety i fafime qu e -

(A) =&

(€) B

The specific quality of water element is -
(A) Lubrication

(C) Pleasantness
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(B) Tt
(D) T4

(B) Touch

(D) Smell

B) T3
(D) @t

(B) Soft
(D) All of these

(B) &
D) Gt

(B) Dry & Rough

(D) All of these

B) s
(D) @t

(B) Cohesion

(D) All of these



14. St me@ w gfmfad T ? -
(A) ¥}
(C) wst
The combine attribute of water element is -
(A) Sound

(C) Touch

15.  afi wen@ %) gfmfad aamn =@ @ -
(A) Y=

€) &

B) ™
(D) @it

(B) Taste

(D) All of these

®) T
(D) =

Which of the following is not a combine attribute of fire element -

(A) Sound

(C) Radiance

16.  Gaifues foaiia werqm @ -
(A)
(C) 3AThIST

Most broad element is -
(A) Water

(C) Sky

17. M9 IR | wel w5 gead ® -

(A) "]

(C) A 9 B i

In human body equivalent to kaal is -
(A) Spinal cord

(C) Both A& B
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B) Smell

(D) Touch

(B) gesit
D) =g

(B) Earth

D) Wind

(B) H&-dSel
D) TF

(B) Spinal Nerves

(D) Blood
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18.

19.

20.

21.

e IR W A % HAqed ® -
(A) Hfesh

©€) &4

In human body equivalent to Mana is -

(A) Brain
(C) Heart
g w1 HH T -
(A) Ueg
(C) raE

The function of wind is -
(A) Dry

(C) Lightness

Sl W HH © -

(A) TE

(C) feorar

The function of water is -
(A) Lubrication

(C) Stability

SYRTST HETYe i fafyme qor @ -
(A) I

(C) =ia

The specific quality of sky element is -

(A) Hot

(C) Cold
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B) faftes o=

(D) Ta§A A

(B) Limbic system

(D) Respiratory System

B) fa=r
(D) |t

(B) Vibration
(D) All of these

B) =
D) '

(B) Heaviness

(D) Bum

B) q&
(D) wfed

(B) Tine
(D) Hard



22.

24.

25.

T YRR H el hP O S ® -

(A) 80-90% (B) 50-60%
(C) 60-70% (D) 20-30%
The quantity of water in human body is -

(A) 80-90% (B) 50-60%
(C) 60-70% (D) 20-30%
f 7l & WA @ fiw 9 # scf| e ® -

(A) STERT+ATY B) gets
(C) Af+se (D) arg+sie
Pita Dosha originates due to the combination of -

(A) Sky+Wind (B) Earth+Water

(C) Firet+Water (D) Wind+Water

foF qell & AT 9 %% 9 %) Iqfd Bl § -
(A) STe-+qeat B) sa+3AfH
(C) Sre+drg D) g +ATHRT

Kafa Dosha originates due to the combination of -
(A) Water+Earth (B) Water+Fire

(C) Water+Wind (D) Wind+Sky

o AW foR awl % WA % uRony ® -

(A) st (B) g+

(C) geal+ag D) sHrRMEy

Vaat dosha originates as the result of combination of which elements -
(A) Fire+Water (B) Earth+Water

(C) Earth+Wind D) Sky+Wind
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26.

28.

29.

e IR W oG qc o Eideh § -

(A) sHfeer (B) =
©) (D)
The symbol of wind element in human body is -

(A) Bones (B) Breath

(C) Blood (D) Skin

g TR | gedl a1 e @ -

(A) & (B) THRE
(C€) 9% (D) sAfeera
The symbol of earth element in human body is -

(A) Blood (B) Stomach

(C) Kidney (D) Bones
e TR T AR g © -
(A) dH= B)

©) e D) T

The number of Karmendriya in human body are -

(A) Five (B) Three
(C) Eight (D) Ten

e o 9 wiifsm T 2 -

(A) =1 B) R

(C) wr= (D) Swlsr w+ft

Which of the following is not a kermendriya -

(A) Hand B) Leg

(C) Skin (D) All of these
8
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30.

31.

32.

33.

e o @ Rfse 4 @ -

(A) 3@

(C) St

Which of the following is not a Ganandriya -

(A) Eye

(C) Tongue

el %1 I frug B 7 -

(A) T=

(C) W

Which gives the sence of touch -

(A) Hand

(C) Leg

gedl e i ol € -

(A) ST

(©) e

The energy of Earth element is -

(A) Humidity

(C) Dryness

oTg e H Sl -

(A) 31

(ORLIRS

The energy of metal element is -

(A) Heat

(C) Wind
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(B) ®H
D) g@

(B) Ear
(D) Mouth

B) wM
(D) =

(B) Ear
(D) Skin

(B) Siiderar
D) 97

(B) Coldness

D) Wind

(B) ¥
(D) sfderar

(B) Dryness
(D) Coldness
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34.

35.

36.

37.

Sl e HI oSl ® -

(A) g B) 3o
(C) e D) 9 | H T
The energy of water element is -

(A) Wind (B) Heat

(C) Humidity (D) None of these

SR T JH ST € -

(A) A T = B) T G W
(€) v gt ® (D) o&ed Gl W
The knowledge of Ayurveda is based on -

(A) Nine Formulas (B) Three formulas
(C) Five formulas (D) Many formulas

AR ® gitehion ° H9 9 gF 39 g9 ¥ gimfem @ @ -

(A) 1 B) =%

(C) &9 D) 9l

According to Ayurveda which of the following is not under Hayasutra -
(A) Kaal (B) Karma

(C) Roop (D) All of these

() Gl 1 SufaarsH fera o o femar e ® -

(A) =R ®)

(© = (D) =

Hatu Sutra are subdivided into how many categories -

(A) Four (B) Two

(C) Three (D) Five
10
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38.

39.

40.

41.

o g7 o wimfem =& @ -
(A) St

(C) SIRI

(B) &4
D) T

Which of the following is not under Ling St tra -

(A) Aaoshidhiya

(C) Upshaya

o o % sufawe ? -
(A) @

(C) dr=

The subdivision of Ling sutra are -

(A) Three

(C) Five

st fored wer 1 B § -
(A) =

(C) U=

The types of Aaousdihiyas are -
(A) Three

(C) Five

ATRTST T O Grafed ik € -
A) 0

©) 5

The figure related with sky element is -

(A) 0

©) 5

119/100/20

(B) Roop

(D) Smprapti

B) =X
(D) e

(B) Four
(D) Eight

(B) Ten

(D) Many

B 1
D) 9

B 1
D) 9
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42.

43.

44,

45.

FA T F TAH Fh T -

A) 0

©) 6

The symbol figure of time element is -
A) 0

©) 6

S T H Tk Hk T -

(A 6

(N0

The symbol figure of soul element is -
(A) 6

(N0

5 fg 37 *1 Wl ik € -

(A) gedlt

(C) AT

5 is the symbol figure of which element -
(A) Earth

(C) Sky

i it w1 T R T | ® -
(A) STHRRT

(C) ge=it

®) 3
D) 4

®) 3
D) 4

®) 4
D) 9

B) 4
D) 9

B) =g
(D) s«

Coldness energy is related with which element -

(A) Sky
(C) Earth
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(B) Wind

(D) Water



46.

47.

48.

49.

T9 TS T ik b © -

(A) 0 B) 9
C€) 6 D) 5
The symbol figure of Taama element is -

(A) 0 ®) 9
©) 6 D) 5

Ul SIS Hi T fRAY YRR % ql W g8 -

@) ®) =8
(©) W (D) sreed
How many types of elements originate the universe -

(A) Three (B) Ten

(C) Five (D) Infinite

TR T W O @ SYER T STER § -
(A) dra wifea B) W HAfEa
(C) Irg wlfesm (D) @9 TlifesH

According to chinese theory the base of treatment is -
(A) Five Meridian (B) Ten Meridian

(C) Twelve Meridian (D) Three Meridian

TohereRT Ty o™l a9 § -

(A) Tt T (B) var® fd

C) = (D) 1 fox
Which is related with sky element -

(A) Pulse Rate (B) Breathing Rate
(C) BP. (D) Skin Pores
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50.

51.

52.

53.

feorar &1 gy fFE 9@ W T -
(A) gedlt

(C) &t

Stability is related with which element -
(A) Earth

(C) Fire

gedl qed T FoId g ® -

(A) wer, o™

(C) wiTel, AR

The paired organs of earth element is -

(A) Liver, Gall Bladder

(C) Spleen, Stomach

HIq e kI STEEIE I § -

(A) TFR, AR

(C) &3, B M

The paired organs of Metal element is -
(A) Kidney, Urinary Bladder

(C) Heart, Small Intestine

Sl e ol 3eFd g B -

(A) TFR, AR

(C) =R, fuam™

The paired organs of water element is -
(A) Kidney, Urinary Bladder

(C) Liver, Gall Bladder
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(B) s«
(D) =g

(B) Water
(D) Wind

(B) e, aST SAq
D) T ¥ w1 T

(B) Lungs, Large Intestine

(D) None of these

(B) w%gl, 9t 34

(B) Lungs, Large Intestine

(D) Liver, Gall Bladder

(B) &3, Bl A
(D) wwsl, qg 3q

(B) Heart, Small Intestine

(D) Lungs, Large Intestine



54.

55.

56.

57.

A q 1 e I T -
(A) &3, B

(C) witel, STHIe™

The paired organs of fire element is -

(A) Heart, Small Intestine

(C) Spleen, Stomach

HS T FT Foll © -

(A) 3=

(C) Sftcerar

The energy of wood element is -
(A) Heat

(C) Coldness

W& K FH UE Bl ® -
(A) ==
(C) FM

The sense of sound is obtained by -
(A) Skin

(C) Ears

W H FH W BB -

(A) TR

(C) ™=

The sense of taste is obtained by -
(A) Nose

(C) Skin
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(B) T, TEARE
(D) <ier, Tm™E

(B) Kidney, Urinary Bladder

(D) Liver, Gall Bladder

B) F=ka

(D) =g

(B) Dryness
(D) Wind

(B) =fyent
D) 7@

(B) Nose

(D) Mouth

B) S
D) |t

(B) Tongue
(D) All of these
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58. mqEdl 1 WY B -

(A) AT (B) I

(C) THUR (D) Tewsifen
Ritucharya related with -

(A) Agurveda (B) Yogasutra

(C) Acupressure (D) Hath Pradipika

59.  ogdR % FIER WY YT W enged G e § -
@ ®) oF
(C) = D) <&
According to Ayurveda the number of Dhatus in human body are -
(A) Nine (B) Six
(C) Seven (D) Ten
60.  MgAR ® FIER IR | =y & goi HRur fhed g € -
(A) 9= B) =S
(©) D) & "R

According to Ayurveda the root causes of disease are -

(A) Five (B) Eight
(C) Three (D) Many
16

119/100/20



